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SECTION 1 – QUESTIONS 1 – 12 
You will listen to the recording ONCE ONLY.

Listen to the conversation and choose the best answers.

1. Emma and Peter are talking about ___.
A. the good and bad things about mobile payment apps
B. how to use a mobile payment app when shopping
C. why mobile payment apps are so popular today
D. why Peter likes mobile payment apps
ANSWER: A

2. Why can’t Emma pay her rent?			
A. She spent her money on other things.
B. She can’t use her mobile payment app.
C. She doesn’t know how to use a mobile payment app.
D. She gave her money to Peter.
ANSWER: A

3. Emma paid her friends using ___.	
A. a mobile app
B. a credit card
C. cash
D. Peter’s money
ANSWER: A

4. How does Peter feel about mobile payment apps?		
A. He thinks they can be dangerous.
B. He thinks they are useful.
C. He doesn’t care about them.
D. He doesn’t think they are easy to use.
ANSWER: A


5.  Emma will borrow money from Peter. Which is the correct meaning of borrow?
A. to get money from someone and give it back in the future
B. to give money to someone who will give it back in the future
C. to ask for money to use now or in the future
D. to use another person’s money and not give it back
ANSWER: A

6. What prediction does Emma make?			
A. People will stop carrying cash because they will use mobile payment apps.
B. Mobile payment apps are popular now, but in five years, people will return to using cash. 
C. There will be fewer mobile payment apps in the future.
D. Peter will begin using mobile payment apps tomorrow.
ANSWER: A

7. Emma believes her prediction is true because ___.	
A. mobile payment apps are popular and so easy to use
B. everyone uses cash today
C. she likes to use mobile payment apps
D. in five years, there will be no more cash 
ANSWER: A

8. What prediction does Peter make about the future?  		
A. Some people will still want to use cash to pay for purchases.
B. Everyone will use only mobile payment apps to pay for purchases.
C. No one will want to use mobile payment apps.
D. Most businesses will not accept mobile payment apps.
ANSWER: A

Fill in the gaps with the correct information based on the conversation.

9.   $__________ money sent last week
10. $__________ money sent three days ago
11. $__________ other mobile payment
12. Emma believes that people will stop carrying cash in_________ years

Đáp án câu 9: 250
Đáp án câu 10: 28
Đáp án câu 11: 167
Đáp án câu 12: 5 (years)


SECTION 2 – QUESTIONS 13 – 20
You will listen to the recording ONCE ONLY.

Listen to the conversation and choose the best answer. 

13. What is the main idea of the listening?			 
A. how some businesses are going cashless
B. how Sweetgreen has saved money
C. why people prefer cashless businesses
D. why businesses don’t want to go cashless
ANSWER: A

14. According to the speaker, an example of Sweetgreen saving money is ___.
A. employees saving time because they do not count money
B. having fewer employees
C. employees not helping customers anymore 
D. having customers order salads online
ANSWER: A

15. Which is an example of restatement? 
A. We looked at the ways people make purchases, in other words, how they pay for things.
B. Today, we will see how some businesses are going cashless and the problems this is causing.
C. Customers must use a mobile app or credit card. 
D. For instance, their employees don’t need to spend time counting money anymore. 
ANSWER: A

16. What is another word that means prevent? 
A. stop
B. guess
C. get
D. give
ANSWER: A

17. The professor says buying new technology saves money in the long run. What does in the long run mean?			
A. after a period of time
B. after exercise 
C. after going cashless
D. after a day
ANSWER: A

18. At the Atlanta Falcons football stadium, where can a customer buy goods?
A. only at a kiosk or vending machine
B. only from a salesperson
C. from a store outside the stadium
D. from a salesperson and a kiosk 
ANSWER: A

19. Elena thinks shopping from a vending machine is ___.
A. not very friendly
B. not very good
C. not very safe 
D. not a good way to save money
ANSWER: A

20. Tyler doesn’t want to ___. 
A. make small talk when shopping
B. go to an Atlanta Falcons football game
C. buy a T-shirt at a kiosk
D. shop at a kiosk
ANSWER: A

SECTION 3 – QUESTIONS 21 – 30
You will listen to the recording ONCE ONLY.

Listen to the podcast and choose the best answer. 

21. In the podcast, Madison does NOT talk about ___.  	
A. the outside appearance of the station
B. the size of the station 
C. the history of the station’s construction 
D. how popular the station is today
ANSWER: A

22. Madison describes the space in the Main Concourse as ___.		
A. breathtaking 
B. old
C. well-known 
D. modern

23. Which sentence best describes the ceiling?		
A. It’s curved, with a painting of the night sky on it.
B. It’s flat and has a bluish-green color.
C. It’s square and has gold-colored stars covering it.
D. It’s a triangle, with more than 2,500 stars painted on it.
ANSWER: A

24. Grand Central Depot was the name for Grand Central Station in ___.	
A. 1871
B. 1899
C. 1903
D. 1913
ANSWER: A

25. What happened just before they closed the main building of the old station in 1910?	
A. They started running trains on new tracks.
B. They opened the new station.
C. They finished work on the new station.
D. They destroyed buildings to make space for the new station.
ANSWER: A


26. How many people take trains in and out of Grand Central Terminal every year?	
A. 60 million
B. 16 million
C. 20 million
D. 44 million
ANSWER: A

Fill in the gaps with the correct information based on the conversation.

27. 	well-known train station: ----------------------------
28. 	Length------------- feet
29.	Width------------- feet

30. 	2 Main parts 	
a. the Dining Concourse

		b. --------------------------

Đáp án câu 27: Grand Central Terminal
Đáp án câu 28: 800 (feet)
Đáp án câu 29: 300 (feet)
Đáp án câu 30: Main Concourse 


SECTION 4 – QUESTIONS 31 – 40
You will listen to the recording ONCE ONLY.

Listen to the podcast and choose the best answer. 

31. The speaker mainly focuses on ___.		
A. the differences between two types of farming
B. the many ways that farming is bad for the planet
C. the future of sustainable and industrial farms 
D. the ways that industrial farms are beginning to improve 
ANSWER: A

32. According to the speaker, sustainable agriculture ___.	
A. uses few chemicals for food production
B. uses water from nearby lakes and rivers
C. has created problems for industrial farms
D. produces much less food than industrial farms  
ANSWER: A


33. According to the speaker, what is a problem with industrial farms? 	
A. They use dangerous chemicals.
B. They don’t produce healthy foods.
C. They don’t produce enough food. 
D. They make less money now than in the past.
ANSWER: A

34. How are people changing? 		
A. They are demanding food that doesn’t hurt the environment.
B. They are eating less.
C. They are growing their own food.
D. They are spending more money on food.
ANSWER: A

35. We can infer that the speaker ___. 
A. prefers sustainable farming to industrial farming
B. has no opinion about the different types of farming
C. prefers industrial farming to sustainable farming
D. likes both sustainable and industrial farming
ANSWER: A

36. What does the speaker think will happen in the future?	
A. Industrial farming will change its ways.
B. Industrial farming will end.
C. Industrial farming will continue to be a problem.
D. Industrial farming will make food more easily.
ANSWER: A


Fill in the gaps with the correct information based on the conversation.
37. ------------------------- farming that is good for the environment 

38. -------------------------can produce a lot of food

Use fewer chemicals for the health of the 39. ------------------- and the 40. ----------------

Đáp án câu 37: sustainable farms/ sustainable farming
Đáp án câu 38: Industrial Farming
Đáp án câu 39: people
Đáp án câu 40: planet 
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